BC Calculus – FDW 3rd Edition – Section 8.2 Even Answers

Quick Review 8.2
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Section 8.2
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54.(a) Calculating the ratio of the derivatives of the numerator and denominator (L’Hospital’s Rule) results in the ‘inverted’ fraction which is essentially the same indeterminate form. No help!  (b) 1  (c) 
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56. Since the limit exists, we have a removable discontinuity. Let f(0) = 1 (that limit value).
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  (b) We’re not looking at a indeterminate form for which L’Hospital’s Rule would apply.

60.(a) 0  (b) The denominator goes to 1 as x goes to 0 so L’Hospital’s Rule does not apply here.

62. False. We need 
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 which is not satisfied.
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70.(a) For small values of x near 0, calculators may give a 1 value for the numerator. (b) Hence, tables of the limit near x = 0 may be incorrect also. (c) 
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. Recall: 
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, hence where u = x6, 
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 (d) An example where calculators don’t have enough precision.

72.(a) Use 
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Quick Quiz – Sections 8.1 – 8.2
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